FEFERFR2025FMTARE—SBUFRNBRLTR (BIFMI)

TERS & 271 PRSI eV F35R EidB HRENZER] ELRT ZERSR &it
100085250006078 7* 125100 ITHEE =B ER*E JEE MR ZEIIK! 361.40
100085250001655 XU * 1 125100 ITHElE E=L ESEILs e EERFAL ZETTLY 353.20
100085250004951 = 125100 TITrEl =l LEFRE IFEERAL FETH 346.60
100085250004005 Fp* 125100 ITrElE E=L0 ESEILs e EERFAL ZETTL 344.40
100085250004081 == 125100 TITrEE £HH LEFRE IFEERAL T 342.60
100085250001683 5K*% 125100 ITHERE ES=L0 eEHE®E EEME AL TEITX) 339.40
100085250001634 SRR 125100 ITrEE £HH LEFRE EE AR ZEmI! 335.00
100085250001650 BB+ 125100 TITHERE ES=L0 eEHE*E EE ML TEITX) 334.00
100085250008226 = 125100 TITrEE =l LEFRE EE R TR 333.20
100085250001633 8 125100 THEE =H%! eEHEE EE ML TEIT) 332.80
100085250008455 XU 125100 TrEE =l 2ER*E JEE AR ZEITH! 332.00
100085250006077 5* 125100 THEE =H%! eEHEE EE MR TELIHK) 329.20
100085250001610 5K* 125100 TrsEE ES=kl cERE EER L FELTL 328.60
100085250006311 K 125100 THERE ES=L eEHE EEMEHAL TELIHK) 328.00
100085250005581 = 125100 TrsEmE E=kl *EFHE IFER AL FELTH 327.80
100085250001660 S 125100 TrHEE E=L7 LER*E EEMHAL ZEITX 326.60
100085250001675 BEE 125100 TreElE E=kzl SER*E IEEMEHAL TETTLY 32440
100085250001612 i 125100 ITHErE E=L0] cEHE®E IEERFAL ZETTL 323.40
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TERS <221 PRIEILKES PRIMEWETT F3I5 A HASENES! ELuiti e RS &t
100085250001676 5K* 125100 ITElE ES=L cEHE®E FERFAL ZELL 320.40
100085250001593 =55 125100 TrEl =l LEFRE IFEERAL FETH 315.40
100085250004004 XU 125100 ITHErE ES=L ESEILA e IEERFAL ZETTL 314.40
100085250004007 & 125100 TITrEl £HH LEFRE IFEERAL T 31240
100085250001652 3+ 125100 ITHERE E=L0 ESEIls e EE ML ZEITX) 310.40
100085250001595 FE2 125100 TITrEl £HH LEFRE IFEERAL ZEII! 308.60
100085250006322 X* g 125100 ITHERE E=L0 eEHE®E EE ML TEITX) 305.60
100085250001689 XU 125100 ITrElE =B LESRE EE R ZEIIH! 304.40
100085250008228 &K 125100 TrHEE =H%! ESEI2 e EE ML TEITX) 304.00
100085250001622 5K* 125100 TrEsE =B LESRE JEE AL TR 303.20
100085250001649 el 125100 THEE e=k:] eEHEE EEMEHAL TEIT) 302.40
100085250008705 EA 125100 TrEE =[B! SESRE EE AR ZEIH! 302.20
100085250001937 BE 125100 TrHER E| =Sk eEHE EmEFALY TELIHK) 348.40
100085250006164 e 125100 TrElE =B SESRE ERRLY ZEIIH! 345.40
100085250001759 =*X| 125100 TrHER E| =Sk £ER%E EmFLY TELHK) 344.20
100085250002086 BR* 125100 TrEl E|S=S=k] LEFRE EERAL FETL L 343.20
100085250003835 Y NELS 125100 TrHEE =Sk cEHE®E EmFLY ZEITX 342.80
100085250001975 BE* Iy 125100 TrEE IF=HH LEFRE EERAL ZETTH 341.20
100085250008707 ¥ * 5, 125100 ITHERE E| =Sk ESEILs e EmFLY TEITX 336.60
100085250001851 BB*E 125100 ITHErE =B LEFRE EMEFL ZETTH 336.40

%270, 31078




TERS W= PRIEILKES PRIMEWETT F3I5 Fidn HASENES! ELuiti e RS &t
100085250001830 TE 125100 TrHEE =Sk ESEILs e EmFLY ZEITX 331.00
100085250001712 =% 125100 ITHEE E|S=S=k] LEFRE EERAL FETH 330.20
100085250002100 & 125100 THEE E| =Sk ESEILA e EmFLY TEITX 329.80
100085250002074 Ll ] 125100 TrEE IF=HH LEFRE R ZETTH 329.00
100085250001903 XU 125100 ITHElE E| =Sk ESEILA e EMHL ZETTL 328.60
100085250001926 T 125100 TITrEl F=BEH LEFRE EMEFL ZEII! 327.40
100085250001966 e 125100 ITHERE E| =Sk eEHE®E EMEFLY TEITX) 327.40
100085250002029 3K 125100 ITrElE F=BH LEFRE EmHlL ZEIIH! 326.80
100085250001704 XI*E 125100 TrHEE =B eEHEE EMEFALY TEITX) 326.80
100085250001703 v 125100 TrEsE =B LESRE ERRI TR 326.00
100085250001709 =E 125100 THEE =B eEHEE EMEFALY TEIT) 320.40
100085250001946 TR 125100 TrsEmE F=RH SESRE ERRL ZEIH! 319.60
100085250003757 R 125100 TrHER E| =Sk eEHE EmEFALY TELIHK) 317.60
100085250001916 5K* 125100 TrEE =B SESRE ERRLY FELTH 317.00
100085250001898 Z=* 125100 TrHER E| =Sk £ER%E EmFLY TELHK) 315.60
100085250001732 w7 125100 TrHEE =B LEFRE EERAL ZEIIK! 315.40
100085250002010 T*HE 125100 TrHEE =Sk ESEILA e EmFLY ZEITX 314.80
100085250002052 XU BE5 125100 TrElE =B LEFRE EERAL ZELIT 314.80
100085250001775 =" 125100 ITHElE E| =Sk ESEILA e EEHIL ZETTLY 312.00
100085250001734 R* 125100 TrHEE =B LEFRE EMEFL ZETTH 310.40

30, 100




TERS W= PRIEILKES PRIMEWETT F3I5 A HASENES! ELuiti e RS &t
100085250001769 5K Ik 125100 ITElE =Sk ESEILs e EEHIL ZELL 310.20
100085250001798 TR 125100 TrEl E|S=S=k] LEFRE EERAL FETH 309.40
100085250002000 5K 125100 THEE E| =Sk ESEILA e EmFLY TEITX 308.80
100085250004009 Z* 125100 TrEE IF=HH LEFRE R ZETTH 308.40
100085250001983 a*% 125100 ITHERE E| =Sk ESEILA e EMEFLY ZEITX) 308.20
100085250001924 XU* 2 125100 TITrEl F=BEH LEFRE EMEFL ZEII! 307.20
100085250001959 B 125100 ITHERE E| =Sk eEHE®E EMEFLY TEITX) 306.20
100085250001977 F*m 125100 ITHEE F=BH LEFRE EmHlL ZELTL 306.20
100085250001958 *% 125100 TrElE =B eEHEE ML TR 306.00
100085250001711 gK* 125100 TrHEE =B LESRE ERRI ZELI K 305.40
100085250001965 = 125100 THEE =B eEHEE EMEFALY TEIT) 305.40
100085250001741 Z=* 125100 TrsEmE F=RH SESRE ERRL FETTL 304.40
100085250001804 IS 125100 ITHEE E| =Sk eEHE EmEHL FZEIH! 304.20
100085250001730 5K* 125100 TrElE =B SESRE ERRLY ZEIIH! 304.00
100085250006081 &K 125100 TrHER E| =Sk £ER%E EmFLY TELHK) 303.80
100085250001930 X 125100 TrEl E|S=S=)] LEFRE EERAL FET L 303.20
100085250001880 B 125100 TrHEE =Sk ESEILs e EmFLY TEITX 302.60
100085250001870 5 125100 TrEl F=HH LEFRE EERIL T 302.60
100085250010736 IR 125100 ITHERE E| =Sk ESEILA e EmFLY TEITX) 302.40
100085250001708 i+ 125100 TITrEl =B LEFRE EMEFLY T 302.00

%451, L1070




TERS <221 PRIEILKES PRIMEWETT F3I5 A HASENES! ELuiti e RS &t
100085250001875 T 125100 TrHEE =Sk ESEILs e EmFLY ZEITX 301.40
100085250001823 5K* )11 125100 TrEl E|S=S=k] LEFRE EERAL FETH 301.00
100085250001950 E* 125100 ITHErE E| =Sk ESEILA e EEHIL ZETTL 300.00
100085250001929 H* 125100 TrEE IF=HH LEFRE R ZETTH 299.80
100085250001773 E* 125100 ITHElE E| =Sk ESEILA e EMHL ZETTL 299.60
100085250001784 FF 125100 TITrEl F=BEH LEFRE EMEFL ZEII! 299.20
100085250002011 TR 125100 ITHERE E| =Sk eEHE®E EMEFLY TEITX) 298.40
100085250001957 PNz 125100 ITrElE F=BH LEFRE EmHlL ZEIIH! 297.80
100085250001721 X1 125100 TrHEE =B eEHEE EMEFALY TEITX) 297.60
100085250002083 &* 125100 TrHEE =B LESRE ERRI ZELI K 297.40
100085250001995 A 125100 THEE =B eEHEE EMEFALY TEIT) 297.00
100085250001736 F* 125100 TrsEmE F=RH SESRE ERRL ZEIH! 296.60
100085250001988 > 125100 TrHER E| =Sk eEHE EmEFALY TELIHK) 296.40
100085250001774 X[*3ee 125100 THERE =B SESRE ERRLY FELTH 296.40
100085250002079 E*H 125100 TrHER E| =Sk £ER%E EmFLY TELHK) 296.00
100085250005445 w* 125100 TrEl E|S=S=k] LEFRE EERAL FET L 296.00
100085250001779 RN 125100 TrHEE =Sk ESEILA e EmFLY TEITX 295.60
100085250002075 XU 125100 TrEl = LEFRE EERAL ZELIT 295.20
100085250001768 x* 125100 ITHElE E| =Sk ESEILA e EEHIL ZETTL 295.00
100085250001912 i3 125100 TrHEE =B LEFRE EMEFLY ZETTH 294.60

%5701, 310170




TERS W= PRIEILKES PRIMEWETT F3I5 Fidn HASENES! ELuiti e RS &t
100085250006259 %* 125100 TrHEE =Sk ESEILs e EmFLY ZEITX 294.60
100085250001706 RrE 125100 TrHEE E|S=S=k] LEFRE EERAL ZEI 294.40
100085250001901 5* 125100 ITHErE E| =Sk ESEILA e EEHIL ZETTL 294.40
100085250001799 BE 125100 TITrEl IF=HH LEFRE R T 294.20
100085250001864 T 125100 ITHERE E| =Sk ESEILA e EMEFLY ZEITX) 294.20
100085250001723 KR 125100 TITrEl F=BEH LEFRE EMEFL ZEII! 294.00
100085250001831 fE* 125100 ITHERE E| =Sk eEHE®E EMEFLY TEITX) 293.60
100085250001974 H* 125100 TrHEE F=BH LEFRE EmHlL ZELTL 292.40
100085250001740 X* 125100 TrHEE =B eEHEE ML ZETTLY 291.40
100085250001820 W E 125100 TrHEE =B LESRE ERRI ZELI K 291.20
100085250003494 R 125100 THEE =B eEHEE EMEFALY TEIT) 291.00
100085250001856 IR 125100 TrsEmE F=RH SESRE ERRL FETTL 290.80
100085250002050 F R 125100 TrHER E| =Sk eEHE EmEFALY TELIHK) 290.40
100085250001700 5K* 125100 TrElE =B SESRE ERRLY ZEIIH! 290.20
100085250001954 Pt 125100 TrHER E| =Sk £ER%E EmFLY TELHK) 290.20
100085250001713 G S ES 125100 TrEl ES=S=)] LEFRE EERAL FETL 290.20
100085250001978 =+ 125100 TrRHEE E|=SE ESEILA e EmFLY ZEITX 289.40
100085250002032 N 125100 TrEl F=HH LEFRE EERAL ZELIT 289.00
100085250003586 R 125100 ITHEE E| =Sk ESEILs e EmFLY TEITX 288.80
100085250001938 ¥%*BE 125100 TrHEE =B LEFRE EMEFL ZETTH 288.80

e, 10




TERS <221 PSRN EIAED PRIMEWETT FIKR A HASENES! itk e RS &t
100085250001915 B 125100 TrHEE =Sk ESEILs e EmFLY ZEITX 288.20
100085250001852 S| 125100 THEE E=HH SER*E EMEFL ZEI 288.00
100085250001761 E* 125100 ITHErE E| =Sk ESEILA e EEHIL ZETTL 288.00
100085250001848 TR 125100 TITrEl IF=HH LEFRE R T 286.60
100085250001694 FHE 125100 ITHERE E| =Sk ESEILA e EMEFLY ZEITX) 286.00
100085250002060 T 125100 ITHEE F=HH SERE EEHIL ZETTH 285.80
100085250001928 = 125100 ITHERE E| =Sk eEHE®E EMEFLY TEITX) 284.80
100085250002006 7* 125100 TrEE F=BH SERE EM LY TEITX) 284.80
100085250001941 ** 125100 TrHEE =B eEHEE ML ZETTLY 284.60
100085250001725 2p* 125100 TreEE =% SERE EmHL ZEITH 284.60
100085250008437 ¥7* 125100 THEE =B eEHEE EMEFALY TEIT) 284.20
100085250002058 B* 125100 THERE F=BH cERE EmEHL FETTL 284.00
100085250001942 = 125100 TrHER E| =Sk eEHE EmEFALY TELIHK) 283.40
100085250001727 Eg2 125100 TrErE F=BH SERE ML ZELIH! 283.40
100085250005233 ZHhH 125100 TrHER E| =Sk £ER%E EmFLY TELHK) 283.40
100085250001920 £ 125100 TrHErE E=HH SER*E EMEFL ZEIIK! 281.40
100085250001756 iz v 125100 ITHElE =Sk ESEILA e EEHIL ZETTLY 279.00
100085250001923 B 125100 Tl F=HH SER*E EMEFL T 277.80
100085250001951 S 125100 ITHERE E| =Sk ESEILA e EmFLY ZEITX) 274.20
100085250005150 %R 125300 =it F=RH E=ERE EERAL ZEmI! 363.80

70, L1071




TERS <221 PRIEILKES PRIMEWETT F3I5 A HASENES! itk e RS &t
100085250003503 £ 125300 =it =Sk ESEILs e EmFLY ZEITX 354.40
100085250002428 X 125300 =it E|S=S=k] LEFRE EERAL FETH 352.60
100085250002498 PN+t 125300 =it E| =Sk ESEILA e EmFLY TEITX 344.00
100085250003717 Eih 125300 =it IF=HH LEFRE R T 342.80
100085250002495 XU*Z 125300 =it E| =Sk ESEILA e EMEFLY ZEITX) 341.00
100085250002487 =R 125300 =it F=RH LEFRE EMEFL ZETTH 341.00
100085250002468 SRR 125300 =it E| =Sk eEHE®E EMEFLY TEITX) 340.60
100085250002466 ey 125300 =it F=BH SERE EM LY TEITX) 339.80
100085250002472 #rE 125300 =it =B eEHEE EMEFALY TEITX) 334.00
100085250002465 EF 125300 e F=RH LESRE ERRI ZELI K 333.40
100085250002477 ¥7* 125300 =it =B eEHEE EMEFALY TEIT) 332.40
100085250007670 3K 125300 e F=RH SESRE ERRL ZEIH! 331.00
100085250002455 e 125300 =it E| =Sk eEHE EmEFALY TELIHK) 328.00
100085250002489 E* IR 125300 e F=RBH SESRE ERRLY FELTH 325.60
100085250003843 FH8 125300 =it E| =Sk £ER%E EmFLY TELHK) 320.20
100085250002597 FHE 125601 TiEEHE E=HH SER*E EMEFL ZEIIHK! 355.00
100085250002518 ¥%*18 125601 TEEE E|=SE ESEILA e EmFLY ZEITX 342.60
100085250002564 il = 125601 TiEEH =B LEFRE EERAL ZELIT 341.00
100085250002571 XU 125601 TEEE E| =Sk ESEILA e EEHIL ZETTLY 340.00
100085250005347 5K* 125601 TiEEH =B LEFRE EMEFL ZEIIT! 336.60

8, 101




EERS = MRS AL PSS BN #3530 1% HARENERY it ARG &iE
100085250005573 5K*$% 125601 TiEEHE =Sk ESEILs e EEHIL ZELL 335.60
100085250002557 FH5 125601 TiEEHE E| 5=zl LEFRE EERAL ZEI 326.00
100085250005360 =+ 125601 TiEEHE E| =Sk ESEILA e EmFLY TEITX 322.00
100085250002549 TR 125601 TiEEHE F=RH LEFRE R ZETTH 321.40
100085250002546 XIJ*ge 125601 TEEE E| =Sk ESEILA e EMHL ZETTL 319.00
100085250005362 = 125601 TiEEH F=RH LEFRE EMEFL ZEII! 318.00
100085250002542 ¥3* 125601 TiEEE E| =Sk eEHE®E EMEFLY TEITX) 316.60
100085250005344 5K* 125601 TiEEH F=RH LEFRE EmHlL ZEIIH! 316.40
100085250002543 = 125601 TiEEHE =B eEHEE EMEFALY TEITX) 316.20
100085250002601 =8 125601 TiEEHE F=RH LESRE ERRI ZELI K 315.80
100085250005359 B 125601 TiEEHE =B eEHEE EMEFALY TEIT) 315.20
100085250005366 B> 1256071 TEERE F=RH SESRE ERRL ZEIH! 315.00
100085250002600 2 125601 TiEEHE E| =Sk eEHE EmEFALY TELIHK) 311.60
100085250002588 IR 125601 TEEHE F=RBH SESRE ERRLY FELTH 310.80
100085250002511 g 125601 TiEEHE E| =Sk £ER%E EmFLY TELHK) 309.40
100085250002573 % i 125601 TiEEH E| 5=kl LEFRE EERAL FETL 308.40
100085250002520 g 125601 TEEE E|=SE ESEILA e EmFLY ZEITX 305.20
100085250009738 3Kk 125601 TiEEH F=RH LEFRE EERAL ZELIT 302.20
100085250002528 EX*1E 125601 TiEEHE E| =Sk ESEILs e EmFLY TEITX 302.00
100085250002560 B 125601 TiEEH F=RH LEFRE EMEFL ZEmI! 301.00

Fou, 10




TERS W= PRIEILKES PRIMEWETT F3I5 A HASENES! ELuiti e RS &t
100085250002572 * 125601 TiEEE =Sk ESEILs e EmFLY ZEITX 300.60
100085250002570 5 125601 TiEEH E|S=S=k] LEFRE EERAL FETH 299.80
100085250002538 ZFrg 125601 TiEEHE E| =Sk ESEILA e EmFLY TEITX 299.40
100085250005348 St 125601 TiEEH IF=HH LEFRE R T 296.60
100085250005355 =8 125601 TiEEHE E| =Sk ESEILA e EMEFLY ZEITX) 287.20
100085250002607 by 125603 TUWTESERE F=BEH LEFRE EMEFL ZEII! 357.00
100085250002638 b= 125603 TWTRSEE E| =Sk eEHE®E EmHL ZETTLY 340.20
100085250003780 =T 125603 TUWTESERE F=BH LEFRE EmHlL ZEIIH! 329.40
100085250008415 % 125603 T TESERE =B eEHEE EMEFALY TEITX) 327.60
100085250002934 Tia 125603 TUWTERSEE =B LESRE ERRI TR 327.40
100085250002632 Y iNE= 125603 TWTESER =B eEHEE EMEFALY TEIT) 326.40
100085250003644 XU 125603 TIWTRSEE =B SESRE ERRL ZEIH! 320.20
100085250005403 xS S 125603 TWTESER E| =Sk eEHE EmEFALY TELIHK) 317.60
100085250002620 K& 125603 TUTERSERE =B SESRE ERRLY ZEIIH! 315.00
100085250002634 XI* i 125603 TWTESER E| =Sk £ER%E EmFLY TELHK) 312.40
100085250007945 Sk 125603 TWTERSEE E|S=S=)] LEFRE EERAL FET L 312.20
100085250002627 K 125603 T TESERE =Sk ESEILs e EmFLY TEITX 311.40
100085250004092 =S| 125603 TUWTESEE F=HH LEFRE EERIL T 306.60
100085250008183 F*8 125603 T TESERE E| =Sk ESEILA e EmFLY TEITX) 303.80
100085250003643 FE 125603 TUWTESEE =B LEFRE EMEFLY T 299.00

%10 08, 310 70
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